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(CHel: =) 3Q ‘16 (Of=HES) 3Q ‘15 (Of=H1E) 2Q ‘16
Oj = ot 47.82 100.0% 51.68 100.0% 50.94
oj=E &7t 29.41 61.5% 31.61 61.2% 29.61
oj=+£0]9 18.40 38.5% 20.07 38.8% 21.33
Thatd| 13.20 27.6% 12.68 24.5% 13.18
Rumedd - 3.51 7.3% 3.42 6.6% 3.50
ol 5.20 10.9% 7.39 14.3% 8.14
7|Et SR +=9/H|& 0.54 1.1% ~0.08 - A0.24
K28 &9 0.01 0.01% 0.02 0.05% 0.004
a9y 0.23 0.5% 0.06 0.1% 0.16
SHOIM| XpZiH o] 5.97 12.5% 7.39 14.3% 8.07
HolAM HE 1.43 3.0% 1.93 3.7% 2.22
=0[9 4.54 9.5% 5.46 10.6% 5.85
2 44 X|&5
3Q ‘16 3Q ‘15 2Q '16 3Q 15 2Q ‘16 3Q ‘16

ROE 10% 13% 13% 24% P08

D5 20/ (£0/2)/042) 0.09 011 011 2%

SR 2|8 (0f /B RH 0.79 0.87 0.84 13% 13% o

T 2fHE K| (B R/ ERL) 136 137 135 ——
DL DI-ILI 21% 24% 25% —4-=ROE -==E=EBITDA O}%I
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(CHQ|: =) 3Q '16 3Q '15 '16 YoY QoQ
=3 o 47.82 51.68 50.94 7% | 6% |
CERz 11.24 11.59 11.55 3% | 3% 1
VD 6.60 6.97 6.61 5% | 0.1% )
IMB2E 22.54 26.61 26.56 15% | 15% |
F4 22.09 25.94 26.07 15% | 15% |
DS B2 20.29 20.31 18.43 0.1% ) 10% t
HEC K| 13.15 12.82 12.00 3% t 10% t
- H=ze 9.86 9.14 8.43 8% 1 17% 1
DP 7.06 7.49 6.42 6% | 10% t
aoip| el
D) 3Q ‘16 3Q ‘15 ‘16 YoY QoQ
= OoH 5.20 7.39 8.14 A2.19 A2.94
CEEg 0.77 0.36 1.03 0.41 A0.26
M E2 0.10 2.40 4.32 A2.30 A4.22
DS HE 4.40 4.65 2.79 A0.26 1.61
U A 3.37 3.66 2.64 A0.29 0.72
DP 1.02 0.93 0.14 0.09 0.88

Z) CE (Consumer Electronics), IM (IT & Mobile communications), DS (Device Solutions), DP (Display Panel)
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[3&27] ]
O 22 : 18 ZHY/MHE XE THof S7t12 A& 2 = Jju
- NAND : 48E+ V-NAND 2 XAl St 2 2olA 74

- DRAM : %8 FEE 20Lte HE B2 Sf 58

[4E7] ]

O 022 : V-NAND SSD 5 49/ S4 MEYA 29 52,
7
- NAND : 262 K82 57} 91 SSD EAf Hofz 42 24 X,
X

- DRAM : ZHH/AH S4i0| OFE 43 X% HY

O SIS ARN 48 £ g% o, ecal ¥ LSIHE
49 AZM X%

Q47 | 10nm Yo JHAIZ MEH B 2|Cie g

[327]]
CJOLED: RH HONZ 571 & ZHME S D8} HE U3

siof 2 AlE JHM

=

- mOjZ: HEY| ofe| SRtES X8 57}

(BaM2): M| o] 10%0) 8t 57}
CLCD : 3 ZjMo= olsh Tot oby 9l g7t 744 23}
UHD/cnsg S DEIHE B 72 SX HE

- TV OiE THOE : (=2) HE7| Ofd| 10%CH =8t 57t

(HE) ME7| CiH| 20%C) Xgt =7}
[4327] ]
(] OLED: E2fad m2e =8 M3 IS U HE YA HME
S0t X A 2

OLCD : UHD TV Al 2lEd M1 X +8/27t884 X%
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OTV: G2 M7 CfH|$H X| Qe AFM 20 M 2435 &
SUHD/Curved & =z|0|Y mtof S 2 FMEH| AR 74 M
- UHD/Curved/60"+ XCHE & &5 71 N = THof ShCy

o TV THOHZF : UHD 47% 1, Curved 72% 1, 60"+ 72% 1 (YoY)

O DA: 0o S AZEX
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(£t : 28)
7 £ 16 327|Y Hed 2827|Y 15 327|Y

x4 2,444,715 2,439,607 2,465,676
~s@a st 830,681 771,404 697,672
L 216,932 260,818 276,315

- A DR 183,782 178,587 228,411

- SRIRRA 104,568 122,716 139,926

- YRR 838,738 846,350 865,604

- YRR 50,882 52,478 55,603

- J|EpRRM 219,132 207,254 202,145

AL 2,444,715 2,439,607 2,465,676

= 3 649,351 621,182 658,389
- %23 129,573 122,448 128,869

- ojiR 78,573 73,447 98,429

-0z 2368 189,419 178,334 187,452

- x| 2ol 17,821 18,638 17,122

- d(o)+3 23,260 25,703 22,170

- 7| EbeA 210,705 202,612 204,347

At 2 1,795,364 1,818,425 1,807,287
- X2 8,975 8,975 8,975

SR RH2 A 2,444,715 2,439,607 2,465,676

% 83 5 - o2 2 #ad A, U E84E, SIS IS asAt, 27 870008 5

164 3=27 |

164 2&27|2

154 3= |

7S48 (FSAR/FSTH) 262% 271% 245%
FHH g (BFA/SXE) 36% 34% 36%
Al FH & (BAF/E5AH2) 7% 7% 7%
=X FH & (Xt 2-88)/EX2) -39% -36% -31%
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